o=V (5 W

: V\: A42W\ ) —AE
Ay d q}j

| 0F _ol = OF - 13 = 60
d 0o o Lt W65
S - AW - VE =W O - Ulud

Yo (1) Lt

Y Lo (US52 ) M2
(-ﬁ : /14(4 ™M
N X = 2-(3=_ L

Yon(8) = 5~

oL OIN° , 5 = 05T
Az 3 ke, Lo 4B ke
A ds

< - gy - 220557 Sk

3) o\ o (OM’L\ = OLJ ol = 6)%('(0

/

13\ h= 2%0m " N

() n s Tw =24

C) p=2 ba(19) -0 -1y

Scanned by CamScanner



d) o= kM= A3000mM

/ 1oACm [ 9076 v - A OOOW\]
d’ T

N0%5

M(OM ) A%ooc

=008 = o= (415%0
5 don()- 008 =87
¥, die StioQse o €) sk @

h

\l\ A = ?‘Q(I‘"o
A

ABE(Em

h
fon () = 7E6 | - 4%¢

h = fon (26,23 4266
= 400,23 ™

Scanned by CamScanner



